> A
N & o & AF & H Al A
20168 & =0l & LBHSIH SR XHR P41t
2H: HE URAAMDY
M HII=2 HMel
Crel: HAME S CEEEED
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
& KR P A 9,190,568 14,637,772 A5,447,204
= 498,790
< 160
Al 8,691,618
HOIZ Xl 1,600,894 6,489,799 A 4,888,905
= 498,790
< 160
Al 1,101,944
FAHFEXE 1,477,016 1,067,431 409,585
= 498,500
Al 978,516
20l XA 75,006 158, 106 A 83,100
201 2et24d] 29,650 130,850 A 101,200
01 At 22l 23,370 124,570 A 101,200
ostdilstd XNe 228 72¢ 21,660
O=3otXt ==cldl 24 1,710
02 2324l 6,280 6,280 0
ogdllstd H3d 5323 4,240
ogZ0lad & ¥ XX ALK H 2,040
301 L2 A F 28,156 25,256 2,900
11IIEtEA S 28,156 25,256 2,900
oOMEExg XN (MMEZRR)
2,730,000& x0.3x2H »12& 19,656
odllstd Az= N&E 8,500
OANTRZS K& 6,000
OLARZS K& 2,500
405 XtAHE SHI 17,200 2,000 15,200
01 AL EFHSHI 17,200 2,000 15,200
ostzilstd s & XIAX ¢ - eI +
2 3,000,000 *4CH 12,000
ostzdilstd s & XX MEI 7
500, 000& *4CH 2,000
ostzdilstd 3s&d & IAX =227 +
2 300,000 »4LH 1,200
O&HEAXA &I ¥ =25+Y 2,000
Medl 2SI &5 2 2te 127,680 117,580 10,100
201 Let24d] 23,120 20,420 2,700
01 At 22l 7,200 4,500 2,700
oMl 28 EI SX 2108 MEH 4,500
osdeAE 2ZAIItMer M2l e 1,700
osdgAg ZAJtHe A28 P 1,000
02 =224l 15,920 15,920 0
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cel: HAHFIZ

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OZAIZt0e &IIe2 ¥ M8 8,340
OZAIZtH 2t =7 X &2t 4,100
O=2YE) NHE 2N 2 RQERZ 1,800
O=28&I ¢ 2 a8 fHI 23 1,680
301 L2 A=z 3,560 3,560 0
1MIIEEES 3,560 3,560 0
OFQUMIH Z&3 X=s 3,560
@1 =HII=S =HSFII 1,600
O &=d 018 EYED| 1,600
@2 0IE22I R (HILEX S)ole 28I 360
307 21201 A 33,000 30,000 3,000
05 RIZt2IEt = 33,000 30,000 3,000
O=28SJl HJI=2 Ml =8 33,000
401 Al& I 28I 68,000 63,600 4,400
01 A& HI 68,000 63,600 4,400
O0lsA ZAlDtoet &l &X
1,000,000 *109H £ 10,000
OJIE ZAlItolet ol &X
2,000,000 *5H 2~ 10,000
osgetAY 2HAIIH0E ARAX
3,000,000 *100H & 30,000
Oo=2s ZeHli4Z 2 62 EYEIl 2 AISHO
ct &X 12,000
Oz=21s @AM5L 2 12 SYHSFI| ZAIt0et
=yl 6,000
Mg Faxgy 29 X2 514,180 556,665 A42,485
201 2et24d] 14,180 12,985 1,195
02 8323l 14,180 12,985 1,195
CIMERE S 145,000 = 16CH 23] 4,640
OFAXE FIIZAL & SEHAI 5,340
O&HAXE XNILX 2323 4,200
206 M= dl 400,000 313,680 86,320
01 =8l 400,000 313,680 86,320
OH=Hl & el X 272,920
CHIEAXE AOEEHS 2L
90,000 *6CH *5I x 12 32,400
OL-HEAXE B+ ¥
220,000 «6CH x2IH x 128 31,680
QHIIS=HXE HIHE LHS AEHA 63,000
405 THebH S| 100,000 230,000 A 130,000
01 XA = FFH SHI 100,000 230,000 A 130,000
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=dI0IE Mel KNS AL 168,000 168,000 0
= 84,000
Al 84,000
403 IR SHHSA201H 168,000 168,000 0
= 84,000
Al 84,000
02 3|2 S0 CHStAt= & CH e A B 168,000 168,000 0
OZ2d0lE XMl XA 168,000
= 84,000
Al 84,000
HEQEHZ “HEAX 7Y 592,150 0 592,150
= 414,500
Al 177,650
405 XH&HF S I 592,150 0 592,150
= 414,500
Al 177,650
01 AL =S EF SHI 592,150 0 592,150
OHELE MY “HHAX F¢ 592,150
= 414,500
Al 177,650
HIOI2 MHes2e 123,878 5,422,368 N5,298,490
= 290
= 160
Al 123,428
SASMYI =H Hel 67,700 3,067,700 3,000,000
201 LEr2 Y| 1,800 1,800 0
02 33249l 1,800 1,800 0
OSAI2MY D DXA &5 1,800
206 T2 HI 65,900 65,900 0
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@32/ /52| H 7,000& *1,200H 8,400
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@702 & 30, 000& *2501 7,500
@ 1202 & 46,000& *900H 41,400
[ NS 3,600
Mess 22 =A 54,148 2,353,018 N2,298,870
201 2yt 2 Y| 29,148 28,018 1,130
01 AFR2t2l bl 25,380 24,250 1,130
oMegss =& 1% ¢ 0t ¢ 12,000
OUEHII=Z =5 HRES, AEH ¢ 10,000
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=1

B #HLSABY (SN NAAMD)
Chel: o2yl (SA RS (Sl &)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
HY2FZH (SE X2 < 4H) 7,573,114 8,131,414 A 558,300
ol RIH(EG X2 <l4) 7,504,474 8,063,514 A 559,040
olARAH(L & X2 <4t 7,504,474 8,063,514 A 559,040
101 1A Hl 7,504,474 8,063,514 A 559,040
03 RIAHA2ZZ2HE > 7,504,474 8,063,514 A 559,040
osZolsdE =0 5,402,979
Q=22 (1458) 2,425,861
@ X 24 & bl 2,425,860,480& *3.0% 72,776
02+ 1,526,940% 86 2 & 262,634
QA2 RE 536,5303 x86H «12& 553,699
OERFA2RY 422,720 x86H x 128 436,248
052 g 105,680& 86 13 118,151
[ JV e = 178,840& 86 » 128 184,563
QA= ESRIE 228,600 x86H 10 196,596
o = 140,000& 86X » 128 144,480
@ E FOtdl 1,807,920 x86H »23| 310,963
@It 2 X Hl 110,000& 86 » 12& 113,520
OEFR+H 90,000 x86H x12& 92,880
QIHEH 69,240
—bi < Xt 40,0003 73 x 128 35,040
-2 A= 20,0003 x120E »12& 28,800
—Jb&EZ2 (AU OF O &F) 30,0003 *15H «12& 5,400
@ E M A 160,000& 86 »12& 165,120
XU A+E 70,0003 x86H x12& 72,240
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372,600& 20X »43| 29,808
(S 50,0003 x15H 128 9,000
0= 50,0003 70 «12& 42,000
@ MG 100,000& 86 » 128 103,200
o1l =l 900,000& =86H 77,400
O=QALEBEHEES 5,609, 191,294 +3.04% 170,520
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170,519,415% x6.55% 11,170
O=2ASREE S 5,609, 191,294& x4 .5% 252,414
CLNsEE=RE3 5,609, 191,294& »1.5% 84,138
OdATHHEE = 5,609, 191,294& *3.6% 201,931
OEIXZ=S2UHE & 50,000,000& »1H 50,000
OIS ESE=) 191,380 #20.8E 30 »1.5x7H 1,253,922
Jl2ZHl (4 & X&) 68,640 67,900 740
Jl2dg (98 X&) 68,640 67,900 740
201 YEr2 Y| 29,830 29, 140 740
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